¥9 = 9L ,70 = (le2lke [» [tb

hle 8-8 fr kal -t Rl L2k 7) DhirlkRie/(€0 |2 it kaK 8) k[pReh|b—F Sk

LC

80=p ,Z0 (2 I b2k v) kpbe B (1)
80-L ,80 (Rlbblic) sbiBab () —b Sk
Liolieb] bl '€
| L8 bak % 2l
RELE RBib k2 Sp2 b kipoRe B ‘2LDBab it ¢ SE —{y3 SR 2 ¢ Khiah T
| Hel2 b 2R € Rible kb Khlal °L
-.l&gg.lalh.l&

2208 10 Radle—-1biblad]a —5lh3

2SI L0 Bhlo- blolh-y—3lbd

281 10~ lo3 kil 2ba|lah—hi2d [2RIP-E—3lbE

2S|Us L0~ DIRK 2blaiain—1sTy —7-BltkE

291 20— bbbi-jpk b 2k £k ‘DI |t Bh 1 L —Blwd

0Z—Lathliadle wRiLIIE 90-234¢s

08—l Wb




- 22

T&9=r ®iE — HIN-H-DSE 502

shisc—06 aTaiRes HeAich1—20

THE- 1 : TET TH-dre e RT-02 Hise
FHIE-2— TE-UHGE ~02 Hide
THIE—3— NI -3g

AT e —

1. VeI Tht ST 3 € D Sl |
2. YEUF @ & s ehl- e o ¥ INFro, 9y St v we W ¥ "
SR /RARSNEE bR & Y gl |
3. 3% TS
HeH- () T=qFro @Fer) os* 1=08
(if) o1 et (4 W W & &1)02* 4=08
e w-SsadtY (6 we ¥ o diF)/amees (2 7T ¥ & th-Uh WeT H 8-8
3 Bt & FRAN= 04* 16=64



23

T IS — HIN-H-DSE 503A

shigc-06
Sitert v TR
FhE— 1 Gﬂaﬁﬁﬁﬂmwaﬂzﬁiﬁm -01 hige
FhIE—2— HATHHAT: TFRAYA , ISP vd FhrT ~01 shize |

gPIE—-3— SioHT: SaerRI-Ghed B Rt , Tmidersr smi-fFerer @ e e,
T waTehe STETRT AT
-02 shige

THIE—4— JTHBUT, BRALT T I ~TAT e, T A6 Hoo, WA qear— FHUSH
=, AAETT TTeHtih—S[eT -02 Wiz

ar e -
1. YU BT 3T 3 €9 Hi gnft |
2. WO @ 3 S g- wWe & N 9o, oY Sl Ud e W ¥ 4
SR /SRS UHTR B U st |
3. 3& s
wWsH- () Tegio (eiFar) 08* 1=08
(i) o1 ST (4 W H & €1)02* 408
s TSR (8 WeT H A 04)= 04* 16=64



